8.3.1 Declarmg 2D arrays
Syntax data_type array_ name[rows][columns]
The elements of this array is referred as -
mark[0][0], mark[O][1] ....-_..mark[r-1][c-1] |
Eg. int m[5][5]; This array can store 5*5—25 elements
8.3.2 Matrices as 2D arrays. |
' Matrix is a concept in mathematics that can be
represented by 2D array with rows and columns. A
~nested loop(a loop contains another loop) is used
" to store and access elements in an array.
8.4 Multi dimensional arrays. - AL
- 3 Dimensional(3D) array is an examp|e for this.
Syntax : data_type array_name([size1][size2][size3];
Eg. int m[5][S][5]; This array can store 5*5*5=125
- elements.



Qn.7
Write down the corresponding memory ¢q
tion in bytes

@28@XMIeM}@3e MEMOry gaiéwite bytes D0y

a) int age[10]=-----
b) char name[10] = -----
- ©) int age[10][10]=---
X[= a) 2*10 =20 bytes (2 bytes for one integer )
b) 1* 10 = 10 (one byte for each character)
€) 2*10*10 =200 (2 * (100 elements))

Qn. 8

subscript

83 two dimensional array wiai.......... MUS Subscyip,

oaRIuidlenge.
a) one b) two c)three  d) néne of these
X b) two '
Qn. 9

Consider the following

@6% 0IS3OWIElEN3MO (RALlH636:.

int age[10][1 0f; _
_In this array how many elements will contain

09 array oo o element .0 swaidonio: _
m 10 * 10 =100 elements

Qn. 10
Consider the following
int age[4] = {1 2,13,14};
cout<<age[3];
What will be the output?
Dolea) output apamier ?
a) 14 b) 12 c) 13 d)o

WD) 0

Qn. 11

The elements of 2 dimensional array can be réad

using ----- loop

603 two dimensional amay wleciod element @ read

©al@ond ... Rale@OulH63mM;, :
X§ nested loop

Qn. 12

----- is the process of reading / visiting elements of

an array

663 array wiee element o, read 021@IM (i SlWOW

........ o alom3mg,
m traversal

Qn. 13

Anjaly wants to read the 10 marks that already
stored in an array and find the total. This process is

known as ----—-

GretiRelos emeaom mwesllsl englszes 10 208003608
aS3am)’ @ROINM M6 G:Iememe. DY (alBGlROw

o1 alowaany, ‘
a) insertion ‘ b) deletion

c) traversal d) linear search

X o) traversal

A two dimensional array is having ----- Numbey of




t 4

14
an- vanl wants to check a number from 100 numbers al-
stored in an amay. This process ig called -

garles SMEaTm Mesilsl ausisage 100 mmudlaimango
o3 MG BSEB) o SMIGOEMs. DD (aySlwon

QU0 2JOWA3.
g) insertion b) deletion
) searn:hh!ng d) None of these
sea ing
o
an. 15

pivide and conquer method used in —-- search.
......... search @ Divide and Conquer «pa rmethod
@R eT 9aleWIGONMOI.

b\ pinary

an. 16
"Each element of the array is composed with value
to be searched from the beginning of the array”.
This method is adopted by search

......... search @ array wes apfjo 230 al@lewaulengo.
] linear search '

an. 17 :
'—— search requires a sorted array as input
......... search o' stored array mpaiw)2368.
X binary search

Qn. 18
—— searching is slower for larger array.
........... search arilw -array apesnalol slower @pol
@le030. ,

m linear searching

Qn. 19
——- is a simple sorting algorithm
sreeennennee 803 Simple sorting algorithm ampyem’
a) bubble sort b) selection sort
c) linear search d) binary search
X[ bubble sort

Qn. 20
Adjacent elements are checked and inter changed
in —- sort _
........... ..... sort @ adjacent element & widlewauilgl
inter chanage eai@go.

X bubble sort ‘

Qn. 21

part in ——- sort
............. Sort ob array e sorted part, unsorted pa
(TEIBOHM R RICITBBIONo. .
X selection
Qn. 22
The elements of an array of size ten are numbered
from -—-- to ——-. o
10 elements ggs array @3es index .......... 2m0)

The array is divided into sorted part and unsorted A

Qn. 23
Element mark[8] is which element of the array?
Mark [6] «pmal npmi2eom element ager.

a) The sixth b) the seventh
¢) the eighth d) impossible to tell
X[ b) the seventh
Qn. 24
When a multidimensional array is accessed, each
array Index is

Multi dimensional array ea: index @eg separate

fal3mmal ....... @R, -

a) Separated by column.

b) Surrounded by brackets and separated by com-
mas.

c) Separated by commas and surrounded by brack-
ets.

d) Surrounded by brackets.

X\® d) surrounded by brackets

Qn. 25
You have used a 2D array with the Name Mat rep-
resenting a matrix. Write the C++ expression to
access the 3rd element in the 2nd row.
Mat @ 2 dimensional array g6¥. eaR2ecD (lealos
agmizeam element mygs C++ expression «p@me.

m mat[1] [2];

Qn. 26
Write a C++ statement that defines a string vari-
able called 'name’ that can hold a string of upto 20
characters.
20 character ag3os name «gan variable declare
2RI,

X\® char name[21];.

Qn. 27 .
Given some array declaration. Pick the odd man
out. -
&30gl array declaration mamigyed. el ailmge &g
WM OMROETMSIORNIE:.
Float a[+40], int num[0-10], double [50], char
name[50], amount[20] of float. :

- X{@ char name[50]. It is a valid array decalaration the

remaining are not-valid.

Qn. 28 )
------—- i$ a collection of elements with same data
type - .
.......... «pm@ ace data type eygs elements o) a3
&3S0 @RET. :
AW Array
_Qn. 29 , (SEP - 2015 (IMP)
- int num[10];

The above C++ statement declares an aray named

‘num that can store maximum integer
numbers,




23&800 06253005388 C++ equIoanf num «pm Eal@lod
RE3 mmwind oree wlgwd amm)’mmﬂ, eRON@d ...........
agme mdawimd mmngad emal aagdo.

a) 9 - b) 10 | -
c) N d) none of these (1)
Xg@mb) 10 . L
Qn. 30 | (MARCH - 2016)

Declare a two dimensional array to store the
elements of a matrix with order 3 x 5

- 3x5 axdavdlengs adl easlemion «peioamzed 8qYId
RaIZIANM ERURIZW (O3 53 WOAMHM @0 wlgwd

021Q3S. - (1)
XI® int m[3] [S]; or float m[3] [5] | | |
Qn. 31 (SEP - 2016)

................. search method is an example for ‘divide
and conquer method’, , |
‘e’ @paf MY’ M 98I0 0M2IW oM d.gf
- f2comay eRen - - 1)
X@ Binary I
Qn. 32 | « -
Read the following C++ statement: -
 213006S @6y smioany analeme,
int AR[10] .-
How many bytes will be allocated for this érray?(1)
DI GROVSH o0 ses) o2ndl GReeson] falQ3o?

~ XYE To store an integer 4 bytes needed'so AR[10] needs
" 10*4 = 40 bytes |

Qn. 33 . (MARCH - 2017)°
Find the value of score [4] based on the following

declaration statement. ‘ |

MY 66)530m@len3m declaration eMAOAMH (aldIR0

score [4] «pmalead allel agoi? ,

int score [5]={988,87,92,79,85); - (1)

=l )

Hence (158),,=(9E),,




